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SVD{Float64,Float64,Array{Float64,2}}

Svd

U factor:

33 Array{Float64,2}:
-0.30519 0.757315 -0.57735 -
-0.503259 -0.64296 -0.57735 - U
-0.808449 0.114355 0.57735

singular values:

3-element Array{Float64,1}:
3.904484344750072 ‘ 1
1.6598198702273692 @ '3

-0.0

Vt factor: 63

33 Array{Float64,2}:
0.0507284 -0.285221 -0.957119 - T
0.84363 0.525159 -0.111784 - V
0.534522 -0.801784 0.267261

Oo‘\'fo'l‘

Truncating the above numbers at 5 decimal places, the singular value decompostion of B is

) R (O | 0.30519  0.75731 0.57735| [3.90448 0
-1 0 2| =[-0.50325 -0.64296 —( 5 0 1.65981
0 1 3 -0.80844  0.11435 0.57735 0 0

Notice that B has only two singular values and rank(B) = 2.
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